Exercise 1.1
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Find the values of the letters p, g and r that make the following pairs of expressions
always equal.
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Solve the following equations.
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Make cos C the subject of the formula ¢Z = a*> + b* — 2ab cos C.
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(a) Multiply T by 8. (b) Multiply (x +2) + 3 by 12.
(c) Multiply 1 (x+ 7) by 6. (d) Multiply X (x —3) by 8.
Solve the following equations.
(a) 2(2x+3)=3(x-2) (b) +(5x+11)=2(2x-4)
(c) 2Bx+)=F2x+1)
Make x the subject of the following equations.
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Simplify the following as far as possible.

at+a+a+a+a b+b+b+b

(a) (b) e
5 b

©) cxXexexexe @ dxdxdxd

¢ 4







i -
@ C = Clz-klyz-—-za!a (o3 C f[aez

£t Dol gt = a2'+ L (*'o?&bém )
2ab s ¢ = 5\2—\-'92-(:2 ("’ Cl)
y 2
s = axb-c (+ 2ab)
| Qalo
/\MA/VW

G (9 Dx8 = 2625) | bl onns

ey EID ¥R

= Lk(x«-z) ? Oﬁ”/ ons s/




(L;) Z}“(Szxﬂ'—n) = % x-4)

C?‘L) gh—t—ll'—'— l‘s-(x-—%—)
Eoell = Gun~—tb

(—ten - Cx = - 2F

(C> ,_S: In *H) = z_ (Z’n +\> }
O(( - S0 o Yo Lem
(K 34:) QO(}“;*{) — Q\(?‘x-\-t) 941 q ond |22

éOx—-i— o= A2n +2\

(—&2n 29 18y = |
o N
(".'lg) X = R

@ (ﬁ) _E(Cx+d)—.-_x+2.

a(u-+d) = lo(;t-%?_)
aéx 4+ 6B = Ly + 2b

("‘ L?:t “"*CUD a_(_o(-—{ox = Ab—ad
) | |
-5 (&(«—-(a) = Ib—ad

2b -4
ac—b

(xb)



boag -
- cx+d) = %(a*zd) e

(> ‘;) alb (i‘-x-ard) = 20 (» +2d) Hoooe bEroe
M c_tmffa—a

=) blexsd) = 2(ne2d) qot ek
. ol ok~
H{ Sene 'bw/\f

bCJ- « bd = 2xn + L d

62’1)“4“”0 (9(-1-—23(:_ ll:-d-—-(ad
x (be2) = Ad—led

(2 (e -0) o = Gd—bd
be =2
= d&-b
! ,\/—\/\lgifti—-——-
i A+ 0+a+ Q4 —
@ ([) i - % p== Q
| g AY o~
(b) };E:ﬁilj = LE_-E = L{r
b L o~
(") (r(x Cx(rC = C,y e f
(el Celoc = & = C
| C_ C o
@) _d_xdljﬁalw:d _ ,9.'.% (GJ id*)
- &%
A~

T P



